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Section 1.4 Relationships in patterns

Enviro-Challenge Day , VWarm Up 7
Mrs. Moody's class pledges to pick up‘6 pieces of garbage each.

Oct. 24, 2022

What is the variable to determine how many pieces of garbage gets picked up?

*The number of students is the variable

How many pieces will get picked up when the number of students is 5? 10?
15?7 ...
You can use a chart to help figure this out.

n

Number of Students| 5 10 15] 201 25| 30| nn ’2

Pieces of Garbage 20 @j& 120] 1S0l 181 6Nl
N A
What pattern do you see in the number of pieces of garbage. A s ¥he a' of

* |t is increasing by 30 Shudands acreast

yS Gor iacress
Write a rule to find how many pieces of garbage will be picke(&, @?eﬁ you

know the number of students.
* multiply the number of students by 6

Write an algebraic expression for the number of pieces of garbage picked up by n
students.

*BXn or 6n
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pdd 1o
Mrs. Waugh's class pledges to pick up a total of] W pieces of garbage than

Mrs. Moody's class.

Number of Students 21 41 6| 8] 10 n n represents the
-\ Ychs—| number of students

Number of pieces of 2\
garbage by Mrs. M's class 'z 3b |48 ©o 6 n

Number of pieces of
garbage by Mrs. W's class| 22, 34 "\'o St 0 6" + lo

The number of pieces of garbage is related to the number of students.

When we compare or relate a variable to an expression that contains a variable,
we have a relation.

v
key‘wor
Example I

Mr. Prasad plans to hold a party for a group of his friends. The cost of renting a room is
$35. The cost of food isf§# per person. |
I remember

: , 4n . cost of food + cost of rent
(a) Write a relation for the cost of the party in dollars for n people.
)

Use a chart to help you find the answer. —
AAMNS
lNumber of People 0 5 10 | 15 | 20

| Costof Party A5 185115|95| I\S
T'L\}uwu

" S
Hn+33 20 +3S

(b) How much will a party cost for 10 people? For 30 people? For 50 people?
_—
n=_10 Nn= ®o n= S

48+35 \ 4§+ 35 Yn +35
1235 )409+35 | 4Gy 435
0_l+535 120 t+3S \Az,v
4 o ¥ 39
1SS $ 235

N=\S n= 20

Relation
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We did #1(a, b) as a group

Homework pg. 23 # 1(c,d)

i 32(%1;,@(1) Zq Nn= #ofFs+ derits
On
For eadh W Nz vl\'{ 22.-
Rar eveny ha ne2 1825 2
Per gocs = 3
/ W ith =%

Vorialle
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C) T'cvm +n \ /}5 “ 5
4y 32 4o n=t T8
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